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This question paper contains 32 pages]

RSM-08
COMMERCE AND ACCOUNTANCY

TS
Paper - II

Time : Three Hours ' Maximum Marks : 200
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IMPORTANT NOTES

The question paper has been divided into three parts — Part A, B and C. The number
of questions to be attempted and their inarks are indicated in each part.

T, R sl A i i 3w F S Rl T v )
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Attempt answers either in Hindi or English, not in both.

S Sl 7 ) o B @ Foreh T AR, 9§

Answers to all the questions of each part should be written continuously in the script
and should not be mixed with those of other parts. In the event of candidate writing

answers to a question in a part, different to the one to Wh.lCh the question belongs, the
question shall not be assessed by the examiner.
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The candidates should not write the answers beyond the limit of words prescribed in
parts ‘A’, ‘B" and ‘C’ failing which the marks can be deducted.
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In case candidate makes any identification mark i.e. Roll No./Name/Telephone No./
Mobile No. or any other marking either outside or inside the answer book, it would be
treated as using unfair means. The candidature of the candidate for the entire
examinations shall be rejected by the Commission, if he is found doing so.
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Note :

gica

PART - A . Marks-40

| - 3 30 - 40
Attempt all the fwenty questions. Each question carries 2 marks. Answer should
not exceed 15 words.

Hre 20 T % SR AR wEE w2 3 FriRa §) I 15 IRi 9 v T
B e |

1. ‘What is the basic theme of ‘contingency approach’ to management ?

way ¥ TR ST ¢ Y SRy faesg @@ €72

2. How organisatiohal goals, objectives and mission of business are related to each other?

T AR % SETH WL, @w-ammqumga‘{ﬁg%aﬁ%?

3.  Why Max Waber ccnsidered bureacracy ‘technically the most efficient form’ of
organisation 7 '

T FeR Y et WS 1 ifafien stfieman Fuwe wreu’ w7 7

L

4. Why ‘planning’ is considered the primary function of management ?

‘ TR B! TeY TH.INTER Y w4 W S 2
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5. “Authority’ can be delegated but not the ‘responsibility’, why ?
' afye A TerEfea 5 W1 g € vy et =@

6.  Differentiate between ‘social responsibility’ and “social responsiveness’ ?

‘e SR qul famfaes srfRamsiiear’ § SR e il

7.  Who is treated as a consumer’ under the Consumer Protection Act, 1986 ?

D - | cL '@Z, 1986 _a; ,iﬁm, ? s ,WW%:’

8.  Specify the conditions under which a private_'cgmpany becomes a public company.

3 gl =1 SeerE 8 T oria T Frelt et g e 99 ol ©)

07 - 1I 5 P.T.O.



9. Is payment of dividend really irrelevant ?

T S T R A T TR §2

'10. What is the rationale behind “promoters’ quota shares’ ?

et % PR Sl o Y B THER €2

11. Under what conditions a company can pay interest out of capital ?

for7 qRTRURR B T o) IS H B SIS R R €2

12. What is meant by ‘due diligence in the process of public issue of securities ?
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13. What is meant by “Yield to maturity” on a security ?

T gfsifr W afioeae o g @ ong B 82

14. What is “green shoe option’ ?

‘3 3 forore” s A R 2

15. What is meant by ‘benchmark instrument’ ?

‘Flyfoeyr Y RISNEIME?

ETE

16. What are the motives of holding cash in bus:i?ies's ?
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17. What is the ‘note lending system’ in bank financing ?

o Toradvaor H ¢ YU YR STaTen’ o1 Bt € 7

18. What forms of securities are sought by commercial banks for working capital advance ?

e S gR1 e o sifim 2 i e e Qe S b i 5w @2

19. Under what conditions a banker is Justified in dishonouring cheque ?

fir ufitferfaal & S g0 S & STl = W 2 ?

20. Under what conditions a"promisof?r note’ becomes a ‘bill of exchange’ ?

o aRRrTaal o we ‘saae’  fafas faaa’ <= s &2
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PART - B Marks - 60
oI ~ & 3feF - 60

Note : Attempt all the twelve questions. Each question carries 5 marks. Answer should
not exceed 50 words.

N TR 12 9 & IR AR | 99 759 F 5 o Frifa B TR 50 I W 3l T
B =)

21.  What are the ‘styles of management’ developed by Rensis Likert ?
e foerd g it =1 1 yeier &) e w22

22. Explain how coordination is essence of management.
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overnment hospital.

3. Identify eight ‘Key Result Areas’ to judge the performance ofag
T AN

@WW%WW%@W‘WW EN

24. What are held to be gervices’ under the Consumer Protection Act, 1986.

FPR WIEH TH, 1986%%%%‘@&&"%&%%11?11%?
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25. Explain the ‘doctrine of indoor management’.

IR Yoy & 91 faga’ St sure w1

26. Logically list the formalities required to be completed by a public limited company for-
getting the certificate of incorporation.
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27. How the price of a share is determined in case of preferential issue of shares by a listed
company ?

T geiag T g s ¥ it frte o g A si9 1 ga A Fraifa fea s 2

hp any pays dividend out of capital ?

28. What is the position of its directors when a ¢
T S g o & & e % T ) T S WA 3 ferf e g 22
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29. Leverage is a double edged sword, which cuts both ways. Comment on the statement.

Selier T QY TR el et 2, St S ol et §1 3y e e ol SRR

30. Eplain the ‘deposit float’ and sy

ment float’.
'S T G ST e '
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31. Explain the ‘risk return trade off’ in working capital management.

wﬁnﬁaﬁ'gﬁnﬁmﬁ‘sﬁ’@q—maﬂéﬁ'ﬁmﬁml

32. What are the essential conditions of a valid “acceptance for honour’.

S e % for gt 8 o ot W 2
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PART - C Marks - 100

T - | AH - 100

Note : Attempt any five questions. Each question carries 20 marks. Answer should not
exceed 200 words.

e : o 5 T B SRR SR | ek e W 20 3 Fraifia ¥ IR 200 V151 § 31feep T
B =T |

33. Management theory has universal application but management practice is culture
bound. Comment on the statement.

et fagT= %1 Qe 99T § Uty T SRR SEptd s Sl $1 s W ol R

07 - 11 15 P.T.O.



07-11

16




34. What is meant by ‘unfreezing’, ‘moving” and ‘re-freezing’ ? Explain their relevance to
change in organisation.
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35.

Describe the role and functions of district forum constituted for the redressal of consumer
complaints under the Consumer Protection Act, 1986.

o T TR, 1986 F i Iusliaaedl o qRemel & i & T Tt *foren
T’ S T qu1 St o faeE S|
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36.

Explain how the three approaches to working capital financing, viz, matching,
conservative and aggressive impact liquidity and profitability of a business enterprise.

= Hifed foF foh wehR shrdviier Yol fafaam @t f9 swidl, aon s1qwy, Wb, qen
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37. Describe the instruments available to the Reserve Bank of India for regﬁlating the
liquidity in the money market.
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38.  Describe the important changes in the role of development banks and development
financial institutions in the management of funds for projects over the last two decades
m India.
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39. Who is a holder in due course ? What rights and privileges have been provided for
such a holder under the Negotiable Instruments Act.
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